Ten Tasks for the Inferno
I know that you are busy but browse through the questions below and give them your best shot. They might be your pathway into or out of hell.
1. You are valuing Exxon Mobil, using the financial statements of the firm from 2007. The following table provides the key numbers:

Revenues

$477 billion

EBIT (1-t)

$ 58 billion

Net Cap Ex

$   3 billion

Chg WC

$   1 billion
FCFF


$ 54 billion


The cost of capital for the firm is 8% and you use a very conservative stable growth rate of 2% to value the firm.  The market cap for the firm is $373 billion and it has $ 10 billion in debt outstanding. 

a. How under or over valued is the equity in the firm?

b. Would you buy the stock based on this valuation? Why or why not?

2. Assume that you have been asked to value a company and have been provided with the most recent year’s financial statements:

EBITDA

140

- DA

 
 40

EBIT


100

-Interest exp

  20

Taxable income
  80

Taxes

  
32

Net Income
 
 48

Assume also that cash flows will be constant and that there is no growth in perpetuity. Which of the following is the free cash flow to the firm?  

· 88 million (Net income + Depreciation)

· 108 million (EBIT – taxes + Depreciation)

· 100 million (EBIT (1-tax rate)+ Depreciation)

· 60 million (EBIT (1- tax rate))

· 48 million (Net Income)

· 68 million (EBIT – Taxes)

3. Assume that you are valuing a young, high growth firm with great potential, just after its initial public offering. How long would you set your high growth period?

· < 5 years

· 5 years

· 10 years

· >10 years

4. The cost of capital for Chippewa Technologies, a US technology firm with 20% of its revenues from Brazil, has been computed using the following inputs:

•The cost of equity was estimated from a Bloomberg “adjusted” beta of 1.2, a “normal” treasury bond rate (because you feel that today’s interest rates are too low and will go up) , the Ibbotson Equity Risk Premium (for the United States) of 5% and adding a Ibbotson small cap premium of 3%.

Cost of equity = Riskfree rate+ Beta * ERP + Small Cap premium



= 5% + 1.2 (5%)+3% = 14%

•The cost of debt was computed by dividing the interest expenses by the book value of debt (a book interest rate); the effective tax rate for the firm is 30%.

–Cost of debt = Interest expenses/ Book Debt = 18/ 600 = 3%

–After-tax cost of debt = Cost of debt (1- Effective tax rate) = 3% (1-.3) = 2.1%

•The cost of capital was computed using the market value of equity(1000) and the book value of all liabilities (1000)

Cost of capital = 14% (.5) + 2.1% (.5) = 8.05%

The current treasury bond rate is 3%. Do you agree with this computation? If not, what part of the computation do you not agree with? 

· the riskfree rate

· the beta

· the risk premium

· the cost of debt

· the tax rate for after-tax cost of debt

· the debt ratio used
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5. You are looking at the following projected cash flows provided by the management of a firm. 
What questions would you raise about the forecasts?

6. You have been asked to value Hormel Foods that currently has the following cost of capital:
Cost of capital = 7.31% (.9) + 2.36% (.1) = 6.8%

a. You believe that the target debt ratio for this firm should be 30%. What will the cost of capital be at the target debt ratio?

b. Which debt ratio (and cost of capital) should you use in valuing this company?
7. You have been asked to value a business. The business expects to $ 120 million in after-tax earnings (and cash flow) next year and to continue generating these earnings in perpetuity. The firm is all equity funded and the cost of equity is 10%; the riskfree rate is 3% and the ERP is 6%.  
a. What is the value of the business?
b. Assume now that you were told that the firm can grow earnings at 2% a year forever. Estimate the value of the business.

c. Now what if you were told that the firm can grow its earnings at 4% a year forever?

d. What if the growth rate were 6% a year forever?
8. For a firm with consolidated financial statements, you have discounted free cashflows to the firm at the cost of capital to arrive at a firm value of $ 100 million. The firm has

•A cash balance of $ 15 million

•Debt outstanding of $ 20 million

•A 5% holding in another company: the book value of this holding is $ 5 million. (Market value of equity in this company is $ 200 million)

•Minority interests of $ 10 million on the balance sheet

What is the value of equity in this firm?
9. You have valued the equity in a firm at $ 200 million. 
a. Estimate the value of equity per share if there are 10 million shares outstanding.
b. How would your answer change if you were told that there are 2 million employee options outstanding, with a strike price of $ 20 a share and 5 years left to expiration?
10. The following are expected cash flows estimated for a target firm (Carborandum) in an acquisition.  You have computed the costs of equity and capital of both the acquiring firm (Kennecott) and the target firm (Carborandum). 
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		Year		Current		1		2		3		4

		Growth rate				10%		10%		10%		10%

		Revenues		$100.00		$110.00		$121.00		$133.10		$146.41

		EBIT (1-t)		$30.00		$33.00		$36.30		$39.93		$43.92

		+ Depreciation		$15.00		$16.50		$18.15		$19.97		$21.96

		- Cap Ex		$18.00		$19.80		$21.78		$23.96		$26.35

		- Chg in WC		$3.00		$3.30		$3.63		$3.99		$4.39

		FCFF		$24.00		$26.40		$29.04		$31.94		$35.14
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